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November 16, 2017
’Unit 5 Advanced Review-Expressions and Equations
Solve the following equations with models and algebraically.

2. 8=m+2 m+ 2
o0 - -2
o0 []¢¢ 4

oo m

4.

1 -n ll ql -l

0ocO ' +2
0009 ' b;es\

"Nrite and solve an equation for each real-world problem. Be sure to define the

ariable.

5. Julia spent on breakfast. This is

more than her friend Bella spent
on her breakfast. How much did Bella
spend on her breakfast?

Let b = BI Ql(a‘s bmakfasi
X175 5

Yes]
| \/g 28 = lp 50+ 115

6. Josh saved $35 per month. He has
saved a total of $280. For how many
months has Josh been saving?

Let m = S erv
avmﬂ
35230
2%0 = 25Mm —280

35
h Vag0= 55(.8)
Yes

7. You had $25 to spend on seven pencils.
After buying them you had $4. How much

did each pencil cost?

eto= COSE of one pencil

JPLLI'

- 25 -25

"72*"2'
=

V25-1(2)= 4

25—-21 =

8. Kali spent half of her weekly aIlowanceYes
on clothes. To earn more money her

parents let her clean the gutters for $9.

What is her weekly allowance if she ended

up with $137?

et a = Weekly allowan co

4 +afiz

'A ,:L_.':L:2-

\/% +G= 12

4+q
chi

[Nk 25



9. Which number line shows the 13. Write the following in exponential and
solution to the equation -3x + % = 2%? standard form. 5
A =g g NS S = 43 LOZL{'
=3 =|¥
012345678_:__:_;_;,6.6.6 _ (_0 _ 21l
B e ¢——|—1——x_,‘ c2e2.2 - 2% [(o
0 1 2 3 4 5 6 7 8 -
C 4 | o+ + 1+ 1 1.8 Solve the following equations.
e & & 4 5 > 1 ¢ -l.—9Y Please put a rectangle around your
3733_ “solution. Be sure to check your
@ ettt solution.
-8 -7 6 -5 4 =3 =2 -1 0

10. The model below represents an
equation. Write the equation and solve

AQ -GG
2x- | - 5

2

X ¥
11. What is the difference between an
equation and an expression?

An equation has an equal sign,
but an expression does not.

12. List three verbal expressions for
each of the following operations:

Addition- total sum  Ncreased

subtraction-_l€ss, differerce,
taken awoy

Multiplication-JlJrodud'. 'h'mCS,
doubled

Division- qlmﬁg( ]i', ‘ ICU F. _

SPIi+ eavuall\/

14. 2y + (-3) = 15

Zy—Bﬁls
+3|+3

AL

V2.9 +(-3)= +15¢
{g-3=1S5 7=

2
'@_/:3

15. 35+ 12 & -27

-z -z
35 ::—BGI
2| 3

(5$-13

(-13)t12="2Tg
-394 12=-2T>~
-27=-27

16. -4#2— 10 17. -9a + 1 = -80
+10| "4+10 -1
. -:_d_.. _qa- :"‘:_8_!.

Hbgi- —q |4
ViE-p=y VAT
~ o -89+ \=-
btos -80=-80"

18. — +5F -4 19. 5t-1oT95

-5 |-s +10 |+I0

X4 g. ot 305

oA .
X 363)

/i 43 V: 5(21)-10=95
Z+5=-H4 105 -10=95
~9+S=-4 945=95

“4=-4 Nes!




20. Generate an equivalent expression

using the order of operations. (You

should get the same answer for both
“oblems.)

15 + [20 - (24+8)2 + 4]
15+ [20-3%+4]
15+ (20-9+4]

15+ [11+4]
15+15

[7(2+4) + 2] + 32
(1-6+2]+3*
fz+21+38"
21+3°
2(+9

€D

1. Solve the following:

33+ 24 + 42
27+ bt b
Y3 +10
54

22, Write each phrase as an expression
or equation.

s tripled less than 4@ 15 i "555 IS

the quotient of t and 5 5

The sum of 12 and m(i9)28 [Z+m=2%

20 subtracted from n ﬂ ‘ZO

five squared added7 &h

T+5%

23. Write the prime factorization using
exponents for the following numbers.
144

‘1;5;3\@

450

4é¢70

P
oo 2-3°.5%

24. Simplify each expression by

combining like terms.
EX+2

6x + 2(x ~ 4) + 10 =
SR Ean

4><—2y+3x y) = _7X 5\/
__QiJ

144 =

)

12 4+ 5(3x + 2y) - 7x + 4y -5 =
@I_é_iﬂo\'/]—'?x HN@

8x+wy+7

'H‘\an, ﬁom'—b umn around words



25. Generate an equivalent expression 27. Evaluate each of the following

using the stated property. expressions given:
‘ommutative property of addition a=-7 b=2 and ¢c= %
5+ (2+09)= 5'\'(61-%2)0&’

(2+9)+ 5
Associative property of addition b+ a= _5
avb+o=(Atb) +C 2+(-7)

Commutative property of multiplication 81— a= __q
oe6-_ (59 3(4)-(7)= 247
Identity property of multiplication 6b2 = 24

S L= ) 2= 04

26. Determine whether the two 32¢ + 2b = 8
expressions are equivalent. If so, tell A ~ . B _
- 32-(4)+2(2)=8+22=42-=8

what property is applied. .4 —

Associative, Distributive, 52.
Commutative, Identity, or Inverse 23___ i 8_. T 8 ._‘
3¢1=3
- g 28. Using the distributive property or
‘ deﬂ‘l"l +\,/ factoring, write an equivalent expression.
(2e5)e7=2e(5¢7) 6(n + 9) = (0!”1%—54
associative 3em-1)=_(pM-3
5(x + 3) = 5x + 15 @D )
15p+ 10 = 5 | + 2

distributive.

12g - 18 = (9(261 ‘5)
140(702) = (1407)@2 v

Mqum lenlk 4x + 2y) = 28X + 8\//

12 + 15 = 15 + 12 20ar+3n) = — 8 —(ph
Commutative 14w + 21 = 7(2W+5>




